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Question No 1 is compulsory. '

Attempt Any 3 out of remaining

Assume any suitable data wherever required. i . ‘ 2 2"" ?mg

1
2,

' is used for servicing and repmrs.ofﬂ:e aircraft 10
. The runway length after correcting or elevation and temperature is

2845m. If the effective gradient on mnway ls 0; 5% thm the revised
runway length will be

iii.  Distance between inner faces of the flahgex is kept slightly less/ eb

more than gauge distance,
iv.  Bearings are provided in bridges to
V. Every port is a harbor. True / False Y
Explain Negative Super elevation by a neat sketch. &S
Asd per ICAO classify various types: of airpom? Ealwt son'le
India .
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Agponsm .

What is ballast? Why is it used i in the uutway lrack? B' 2 ', riﬁe the vatious 10
types of ballast used? \ '

Design the Exit runway ;oining a mnWay anda_pafg
angle of turn is 35°C and the jnaximum tu off

mway The total 10

Explain the  differant types of\Rme 9yt .#méir"mmg'wim neat 10
diagrams. .

Design a tumou‘t df_ Lin .8.5. 0

tongue rail, it springs up fromighe °
Assume heefdivsrgepce= 3.3, ;1 :

: assmmng the curve is tangential to 10
el of swm'.h at 1" 8 0” and ends TNC.

; ._m.-t-h ,--_;gog;- T.1500- | 1800- | 2100- | 2700-

) “-».-'-1'50&‘.' fsoo 2100 | 2700 | 3000
B 10 20:50 - 0 | +1.00 | -0.50 | -0.04 | -0.10
' '-'x'mpqrtabshucﬁoas vn:hraeat sketches? 10

5 f 10
/R Bﬁmhbnu Cm;t on BG track of 7¢ for an average speed o
mﬁkﬁgt’ calcuiamgt maximum permissible speed after allowing the

- vExplam r{z: wofhhg%qfﬂ‘y:maghom Signals with neat sketch

. Expl&m‘W“Kd rb%ﬁ djagram?- What is its utility and its types? Explain each type

S

S ."'.;_".mttb neat sféetch%s’? 2 s
b, - Define Breakwaters Qnd-lnentlon various breakwat : S

R o De’scﬁbe*wuhwﬂﬂdch ) D‘“mq"dm(

..\'.

x S
3= e

56ABTF22531F971806:



